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Section A- (30'x Zimarks = samarka)

For sach: question from 1 to 30, four options are given. One of them is the
correct answer. Make your choice: {1, 2, 3 or4). Shade the correctoval (1, 2, 3
~ or4) on the Optical Answer Sheet,

1. Whatig theimpertame of reprodustion?

(%) Organisms need to reproduce to ensure continuity of its own kind.

(2) Organisms need 1o disperse Hs young {o ensure continuily of iis own
kind. ,

{3} Organisms nesd fo move to a new area to ensure continuity. of its own
kind.

(4) Organisms need to prevant competition w:th ;;s yﬁnﬁg for air, food and
"‘i"tqr y angira sodim d;i}? of s swn !ﬁﬁﬁ



2. The diagram below shows the characteristics of parent plants, X and Y.

A B 1 1  © 1 D
 Juicyfuits Bigfuits | | Bigfuls | | Bigpetals |
Big petals Sweet fruits luicy fruits Sweet fruits

‘A, B, C and D are offsprings of Plant X and Plant Y. When A, B,C and D
grew into adult plants, two of them were used io breed a new young blant V,
‘which has big, sweet and juicy fruits. ‘

Which of the twtx plants A, B, C and D) are parents of V?

{1) A and G only
(2) A and D only
{3y Band Conly
{4} B and D only

3. Study the chart below.

@ants repruee b
VRN

through through
e N
X seeds
} {
iﬂ( like
I ol
T fern balsam plant

Which of the following can X be?

{1) seeds
(2) moud
{3} spores
{4) pollen grains




4. The diagram below shows the cross-section of a flower.

Which are the female reproductive parts of the flower?
{1) A and B only

{2)Dand E only

(3)C. Dand F only

(4) A, B, C, D and F only

5. The diagram below shows the cross-section of a raspbenry flower.

anther

style

ﬁiament

For fertilisation to ocour, what is the path taken by the male-sex cell after
pollination of the flower?

{1) anther —>  stigma
(3) sfigma  —> slyle = ——> ovary
@) anfher —> sligma —> slyle ——> ovary



8. The diagram shows a cross-section of a flower.

‘Basead on the diagram, in which of the labelled parts will fertilization take
place?

(n A

@8

(3) C

4) D

7. A baaker of ice water was Jeft on the table in room temperature.

plastic wrap _

glass
beaker

water at the bottom of beaker

ice water

Which of the following statement(s) is/are correct?

A The water.in the glass beaker will evaporate after some time.

B Water droplets will be formed on the underside of the plastic wrap.

C The formation of water &t the bottom of the beaker needs water vapour ~
in the surrounding air. '

(1) Bonly

(2) Aand B only
- {3) Aand Conly

{4) A/BandC



8. The diagram below shows the changes in stale in the different stages in the
water cycle.

y /” | G_E'Q,“dg \Zﬁ |

Water vapour Rain

:\ Water bodies ,._/

Which of the following correctly shows what takes place at X, Y and Z?

| X Ly z %
(11 Gain heat ; Lose heat Change of state :
{2) - (ain heat i Lose heat No change of state !
) Lose heat : Gain heat . Change of state  :
H s ; H

; : : - - o |

4) Lose heat i Gain heat i No change of state jl



9. The diagram shows the water t:yc!e,

Why is the water cycle important to the aguatic organisms in the pond?

(1} it provides a continuous supply of water for the organisms to live in.

(2) it prowdes a continuous supply of waler 1o keep the body of all the
organisms wet,

{3) it provides a continuous supply of water to keep temperature of the
pond constant.

{4) It provides a continuous supply of wates for the organisms to keep
their bedy temperature down.

10. Which of the following activities are ways to help in the conservation of
water?

A Use a water-efficient washing machine to do laundry.
8 Watering plants at noon instead of early morning hours.
C Use a toilet system that has haif-flush and full-flush options.

(1) Aonly

{2) A and C only
(3) B and C only
{4) A, BandC



1. Study the diagram:below.

NITOT

reflacted image
bali

Which of the items below isfare not a matter?

A boy

8 ball '
C mimor

D reflected image

{1) D only

{2} Cand Donly
{3) Aand Bonly
{4) A, B and C only



12. Study the classification chart below.

i Things |

i srd

i C

{ cloud
| mercury

Sofid |

D

Forte

wire
duiian -

H

~steam
! oxXygen

magnetic :
force

i
¥

Which of the following correcily represent A, B. C ang D?

y— - v

[P

© Ao e

il e SR

M- Matter

Non-iiving

B

3
e e W Simacohs b wubme ¢
I3

@

(3).  Matter

i—-_ s pm—— -

)" Matter

e

el

Non-living

. — e h L meeera

C

Gas

Liquid

waeme 3

(At e ey

. Energy |

heat |

cmes - “
D i
- -

‘Non matier

Sraee

Non matier Water , Air
Liquid Gas



13. The diagrams show the reproduction processes of two different plants, The
{epreductmn processes are all stated for P!an’m

Adult Plant A | | Adin {PlantB
{ D
poliination 9
v | féﬁthsa{mn gyeuﬁgv'fe;;; i
dispersal
N
young balsam
_plant

Which cne of the following shows the missing reprodiction progess{e:
the fern plant?

{1) dispersal

{2} fertilisation —> é;spersai

{3) dispersal —> ferlilisation

(4) pofiination —3 fertilisation —> dispersal

14. Which of the following statement(s) about germination isfare correct?

A When a seed slarts to genminate, the shoot appears first.

B The baby plantis found enclosed between the seed leaves.

G A seed left inthe freezer can remain inactive until the candmcns are
favourgble for germination.

{1) Bonly

(2) AandC only
(3) B and C only
4 ABandC



15. Priya wants to determine i sunlight is essential for the germination of seeds.
Of the. following four setups, which two should she use io conduct her
experimeat? . L

cotton unsealed transparent |
‘ ' coniafner ]

sealed
" transparent
{1 container

cqtton » sealed
| opague
container |

(1) Setups AandB
(2) SetupsAandC
(3) SetupsBand C
(4) SetupsBand D

40



16. Four pupils observed two different plants in a garden. They made soms

statements on the flowers of both plants. The diagrams below show the
ﬁowars af the two: ﬂifferent p!anis

male flower
female flower
Flowsrs of Plant G Flower of Plant H
Alice Al thres flowers have both male and female parts on it.
Bella Onl &efema?a flower of Plant G and the flower of Plant H will

veio into fruits.
Celine Perbﬁsaiwn is required in both the female flower of Plant G and
''''' the flower of Plant H before seeds can develop.

Dave  Since Plant G has both the male and female flowers on it, there is
no nead for pollination.

Which pupil{s) made a correct statement?

(1) Alice only

(2) Belta and Celine only

(3) Celineand Dave only

(4) Bella, Celine and Dave only

17. The female flesh flies are commonly found on dead bodies of animals.
Some flowers depend on these female flesh files for poliination.

What could most likely be the characteristics of such flowers?
(1) They have small flowers,

{2) They are sweet-smaslling.

(3) They do not have any scent.

{4) They have strong and unpleasant scent. -

i1



18. The dlagram shows pari ef an island where the seedlings of a type of plant
are grmﬂng S o

‘Which one of the following correctly shozws the location of the parent
plant, @ ofthe seedﬁngs?

(1

3 @)

12



19. A type of fiower only. blooms.at night. Some of them only bivom once a
year for a single night. The night-blooming flower has a distinct
waracterisﬂc that ensures 'po nation wﬁl take piaoe

For the purpose of pollination, *ma of the following. characteristics of the
night— blooming flowsr and its pullinatﬁm are corect?

[Characteristics of - [ Characteristios of

y nlgbﬂﬂoomh:g flowey night-blooming pollinators
{t) |Hisbrightly-coloured | Theyareactive at night
{2) |t hasa strong scent | They are active at night
{3) |1t +S,dull-coloured They are only active ijr‘i'the-day
(4) | ithaslarge amount of pollen | They have keen sense of smell

20. Sally joined a metal and a wooden rod together.

Joint

Metal rod ————{ - Wooden rod

She then wrapped a plece of paper around the section where the 2 rods were joined as
shown in the diagram below,

Paper

Metal rod

$he heated the joint for a few seconds and found that the section of paper
around the metal rod showed no sign of being busni, but the section of
paper around the wooden rod appeared. sﬁghtiy bumt”

-~ Which one of the following can she conglude from the experiment?

{1} ‘Wood burns paper while metal does not. :

(2) Metal and wood burn at different temperatures.

(3) Metal is able fo conduct heat away faster than woed.

(4) Metai conducis heat to wood and caused the wood to bum.

13



21. Ali set up an experiment as shown in the diagram below.

metal wire

wail

N \x\\kx\i\i\ii.\\\\\\i A

rnetal wire

. wooden block

Al heated the metal wire for 45 minutes, He observed that the wooden
block moved a little in the direction of the ammow as shown above.

Which one of the statements Is the correct explanation for his observation?

1) The metal wira lost heat and contracted.
{2) The metal wire gained heat and expanded.
{3) The wooden box lost heat and contracted.

{4) The wooden box gained heat and expanded.

22. The table below shows the melting pmnw and boiling points of 3.
substances, X, Y and Z.

“Substance |  Melting point {°C) Bolling point {*C)
s - .
Y 32 83
Z 75 114

Which of the following statements are correct?

uow>

Substance X is a gas at 60°C.
Substance-Y is a liquid at 70°C.
Substance Z is a solid at 120°C.

From melting point to boiling point, all 3 substances need to gain beat
to change state.

{1) Aand Bonly
{2) Cand Donly
{3) Band Conly
(4) A, Band Donly

14



"23. Study the graph below carefully.

100 fkwnn

e NN Y A A ——

»Time.

A and B are different types of subslances,

Which of the following statement(s) about A and B is/are comect?

A At100°C, both Substance A and Substance B will become steam.
B Substance B takes a longer time to boil compared to Substance A

C Al of Substance A has to be in the liquid state beforeits tamparature
starts to rige. .

{1} Aonly

{2) Conly

{(3) Band C only
{4) A, Band C only

1R



d atits oullet and its plunger Is pushied towards the outlet

24, A syringe Is sea
inthe d:agrams beraw

tothree ﬁfﬁefeﬁf bﬁslﬁona as shown

plunger

Position A Position B Position C

The syringe was weighaa ihme times, sach time with the plunger in the
different positions as shown above.

Which of the following statements are incortect?

A The mass of the air in the syringe at position A is greatest, '
B The massofthe a:r in the ifayr’inge at position A, B and C is the same..
C The volume of the the syringe at position C is the least

D The volume ofﬁiéa:rmme’synngeatposmnla B and C is the same.

(1) Aand C only
(2) Aand D only
{3) Band C only
{4) B and D only

26



- 25. Ali prepared a set-up as shown below. He inflated the balloon through the

26.

‘A Matter X is a gas.

‘straw. The balloon inflated s!ig "tly_ Next he released all the air inthe

balloon and filled the conta
Then he blew air into the balloon age

straw

: m saaiing it wsth a stoppar.

container —

balloon -t

Based on his observation on the expenment Aii mads some notes.
Which statement(s) is/are correct?

A Air occupies space.
B Water has a definite mass.
C Watear has a definite volume.

{1} A only

{2) B only

{3) Aand C only
$HABandC

Matters X and Y are placed in Matter Z which is put on a table as shown in
the diagram below. Matter ¥ does not fill up Z compleiely. The bottle is
turned on its side and then inverted upsrde down consecutively wﬁmm
stoppmg

Based on your observation, which of the following statements are correct
about X, Y and Z?

»

B Matter Y liguld.

C Matter Z is definitely a solid.

D Matter Y is at different states when Z Is placed on its bottom, on its side
or inverted upside down.

(1) Aand C only
(2) Band Donly
{3) A, Band C only
{4) B, Cand D only

17



27. Study the classification chart below.

Which ong of the following correctly represenis A, B, € and D?

"

B

c

B

8}

4—siag"e' fife

“3-stage e

cycle

Ymng —

resembles adult

resemble adult

| @

3-stage life
cycle

Z-stage life
oycle

Young ,
resembles adujt

Youtig does not
_resemble adult

13

' 4~S§é§e life

~ 3-stage life

cycle

Lays eggs

Lays eggs

@| eponie

3-stage life
cycle

Lives on lané |

Livesin wé’ter'

18




19

diagrams shows the correct life cycle of a

flowering plant? -

(M

@)
3

@)

28, Which one of the following



29. Study the diagrams on the different types of living things.

Based only on tha diagrams above, what can living things do?

(1) Living things can grow.

(2) Living things can reproduce.

(3) Living things can respond to changes.
4 Living things have 2-stage iife cycle only.

20



30. The following table gives information on four plants, A, @ Il and 4B
A tiek { ¥ ) shows that the plant has the characteristics..

—— " Plani |
Does not have flowers 4 4

Fully submerged inwater | A |

Sesds ~Spores

Land plant Water plant | | Lami giant “_Wa:tér plant

A B e} D

Based on the information above, which one of the following best represents
the four plants A ,®, I and @ respectively?

Pant A | Pt ® | Plant M@ | Plant @
o ',HA-, — ,

{2) B ‘
3) c
4) D

> wlo|o
ololy
wirlolo

21
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Wnte your ahsw&rs to question 31 to 44.
The number of marks available is shown in brackets { ] at the end of each question
or part question.

31. Flowers are important for reproduction process. The diagrams below show two

different types of fulkbloomed ﬂowers wiih the male and female reproductive
parts still intact.

‘Flower A Flower B
(a) On flower A, ciicle and label the pait of the flower where the pollen grain
shotiid land for pollination to take piaca 1
(b) Nama the agent of pollination for i‘idwerA and Flower B. 12]
 Flower A -
FlowerB~__. - -

(c) Based on the diagrams, siate one difference between the two flowers that
result in the way the flowers are pollinated. 1]

=t

Score




32. Mr Tan breeds flowsrs as a hobby. He decides to produce a new type of flower
with Flower X and Flower Y.
Flower % cn!y has anthers.on it The diagram below shows Mr Tan removing all
: the anﬁmrs an Flawerx. , ;

Step'! :

Flower X

Next, he teok a mature anther from Flower Y and brushed it on one part of
Flower X,

_step2 |

small pincer

FlowerY

- Flower X

cellophane bag

-

(a) In step 1, give a reason why the anthers from Flower X need to be removed-
eampletely so that a new fype of flower could be produced? -1




{b) Name the reproduction process that Mr Tan was trying to copy in step 2. [1] }

(c) A few days after step 3, Mr Tan ﬁsought thai the piant was dymg as the base
" of the flower swelled, the. mala part and some of the female paris of the

flower dried up. Will he be ab!a 1o get the seeds of the new type of flower?
Explain what had happened. | 11




33, Susan set up a model. She dissolved 3 grams. of salt in 20 mil of tap water. The
S solntmn was plamd in ihe plastic bowl. Then ihe set-up was left in a sunpy

. drops of wateronthe
undarside of plastic wrap

pure wate?

{a) After several days, it was observed that only white powdery substance was
laft in the plastic bowl. Susan tasted the white powdery substance and found
that it was sally. She also weig hed the whits powdery substance and found
that it welghed 3 grams,

What had happened to the water in the plastic bowl? ]

Score 1




* Susan had steamboat with her family. After an hour through the meal, she
realized i?;at the amount of soup decreased and the soup was gelling more and
- more sa K ,

soup made: Wltil thsken bt}né
water and salt

steamboat pot

flame to warm the soup

{b) Explain why the soup tumed more salty. 21




34. The diagram below. shuws hawwe can save water at home after using the toilet.
Vfiow down tha pzpe to ihe water tank of the

S~ wash basin

- water tank

(2) Give a reason how this system of flushing the iollet can help to save water?
(1

5 Score 1




wasbbas’i_#

b water tank

Level X

After flushing, water refills the tank and the tank will stop filling when the water
reaches level X.

{b) Explain how more water can be saved by putting stones in the above water
tank? A 2]

- Score 2




35. Study the flow chart below.

@1

|

Does it have mass?

No |
e shadcw

No - (b)

No

J, Yes
Rock

Oxygen

Complete the flow chart by filling in the correct questions in part {a) and (b). 2]

Score




36. In an experiment, the same amount of food is fed to' Organism X throughout its
4-stage | cle. The type of food given is based on:the preference of food at
o f its life cycle. ‘A-graph is then pk:ited 1o show the amount of

4
8
%
=
§
A B C I ~ Time (days)
(a) Which part of the graph represents the larva stage? (1

(b) Based on the information provided, give a reason for your answer in part (S)]

Scéfe» 2




37. Study the diagrams of iwe aduit trees below.

Entire edge
leaves

ree B

Tree A

(8) I the parent trees are Tree A and B, write down the Ghambieristic that the
offspring, Plant X, will defihifely have. k1|

{b) Explain your answer for part (a). 1]

10 | Score / S 2




38. The diagrams below show how the seeds of two different types of fruit are
dispersed when the fruits ripen and split.

Fruit

™ Wing-like structure
Study the graph below which shows how far the seeds are dispersed from the
parent plant. - '
Number of seeds
A

-

A,

> Distance between seeds
and parent plant

I respectively? [2]

(b) State 1 difference in the characlaristic between Seed E and F. Explain how
this characteristic helps in the dispersal of Seed F comparedio Seed E.  [2]

11 | Score | 4




39, The diagrams below show two different types sesdling.

ling A Seedling B

{a) On the diagrams above, label the part that provides food for Seedling A and
Seedling B as “X". 2]

{b) Based on the diagrams. above, how will the mass of the seed leaf change
duting genmination? Wil it increase, decrease or remain the same? Ex
YOur answer.

12 Smw.'4}




40. The temperature of the surrounding air outside the air-con bus is 32°C, while the
_’,mszde thebusls 25"(} Wafer drﬁpiets are found on the glass paﬂeis

Facing
outside

{a) After the bus started moving on the road for a while, water droplets are
observed on the glass panel. On which side of the glass panel will the water
dropiets be found? (1

(b) What condition must be present on the glass panel in order for water dropisis
to be formed? Explain. f2]

43 Scors 3




41. The bottle garden is prepared by pulling garden soil and plants into a botlle.
Su:tabta ameun};cf wa er-is added to ﬁaé so:} bafore the. boma is sealed The

. sqii with water

(8) Explain how the watsr in the soil helps in the formation of the water droplets
along the side of the boltle? 2]

Score A 3

14



42, Jéhn wants to prove that Object X has mass. He is given some materials to
conduct his expenment and he dces not need to use all the items.

L e e

qcu-'a'-au.-s-b-—-—{

e e e

displacement can _ a beaker of measuring
400 mi of water cylinder

equal-arm balance

{a) Put a tick in tﬁg_bax{ﬁs} for the item(s) that he will need faf the experiment.[1}

{b) Draw in the box below to show how the set-up should Fﬁbk like for him to
confirm that Object X has mass. {1]

15 Score 2 '




43, Mary set up anexperiment to find out if plants need water to survive.

inf‘f;,

ooen glags jar ———y

Control set-up B

{a) What is the purpose of the control set-up? M

{b) What observation should Mary make in order to come o a conclusion for her
experiment? [1]

Score / 2E

16




‘44, Study the classification chart below.

. Animals

bat salmon : pigeon
whale - guppies duck

(a) Write down the correct headings for A, B and C. i)

(b) Which group should penguin be!cxng to? i1l

(c) State one characteristic that is found only in the animals in Group C. 1]

-End of paper-

Score | 2 3

17
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Q1 Q2 Qa3

Q4

Q6

Q7

Q8

1 3 3

Q5

3

4

2

Q11 Qil2 Q13

Q15

Qi6

Q1s

1 1 1

Q21 Q22 Q23

2 4 3

31)a)

b)A: Wind

c)The stigma of plant A is hanging out while flower B’s stigma is

inside.




ent the pollen grains of Flower X from landing on the

'b)Pollination.

c)Yes. Fertilisation had taken place. The ovules will become the
seeds of the new type of flower.

33)a)All the water had evaporated.

b)The water in the soup gained heat and boiled. The less water the
soup become more salty.

34)a)After washing your hands, the water used will be used to flush -
the toilet.

b)The stones occupy space, so less water will be needed to fill the
tank to level X.

35)a)Does it have a definite shape?
b)Does it have a definite volfu.mfe?
36)a)B. |
b)The larva eats the most of food.
37)a)Plant X has entire edge leaves.

b)Plant X inherited the traits from the parent plant the
characteristic is passed on from the parents.

38)a)Seed E / SeedF

b)Seed F has a wing-iike structure but seed E does not. Seed F will

be able to float Ionger in the air and dlspersed further from the parent |
plant. |



39)a)

b)The mass will decrease because the seed cannot make its own
food yet, it deeper on the seed leaves for food nutrients.
40)a)Out side of the glass panel.
b)The glass panel must be cooler than the water vapour outside
the bus. To allow water vapour outside the bus to lose heat and
condense in to water droplets.
41)a)The water in the soil gained heat and evaporated into water

vapour. The water vapour touches the cooler inner surface of the
bottle, loses heat and condenses into water droplet.

b)The living things in the bottle garden take in water for life
processes like photosynthesis.



displacement can

]

a beaker of
400 mt of water

L]

measuring

.

A

equal-arm balance

%]

cyfinder

0

b)

43‘)a')Th"e'”éb"ntfol“‘iﬁ"f;’ér comparison with set-up A in order to confirm

that plants need water to surface.

b)She should observe both the plants to see which plant will be

alive.

44)a)Mammals

| c)Anlmals in Group C have fééthe_rs over their body.

he penguin belong to group C.

»



